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SECTION A

Queshons 1 to 15 of the examination question paper are TRUE/FALSE questions

Select the correct option In each case If the answer is true, mark [1], and if the answer 1s false,
' mark [2]

The basic economic problem is the reason for the existence of scarcity

1 True

2 False

Through the study of economics we seex answers to the questions of what, how and for whom to

prodiuce goods and services

1 True
2 False
A supply curve has a posttive slope that indicates a direct relationship between price and the

quantity supplied

1 True
2 False

The law of demand states the relationship between the quantity demanded and the income of the
consumer

1 True
2 False

With the increase in the wheat crop this year after good ramns, more wheat will be supplied at the
same price and the supply curve of wheat will shift to the nght

1 True
2 False
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The market equilibrium position cannot change if both the demand curve and the supply curve
move to the right

1 True
2 False

Rand per bag

& 5600 10000 15000 20000

Quantity

Refer to the supply curve in the above figure If the price of oranges increases from R2 to R3,
the quantity supplied will decrease from 15 000 to 10 000

1 True
2 False

Ceteris paribus 1s a Latin term used to state that all other vanables are assumed to remain the
same when we try to determine the effect of price changes on the quantity demanded or supplied

1 True
2 False

An upward shift of the supply curve implies a drop in prices and an increase in quantity supphed

1 True
2 False
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If the value of the price elasticity of the demand for blue pens lies between 0 and 1, the demand
for blue pens 1s price elastic

1 True

2 False

The balance of payments is one of the yardsticks used to determmne whether South Africa has
achieved its obgective of full employment

1 True

2 False

In microeconomics we study the change in price and quantity of mik in South Africa and try to

explain changes m this market

1 True

2 False

In the South African context, the two most important macroeconomic objectives are full
employment and economic growth

1 True

2 False

Double counting can be prevented If we add all the pnices in the production process of a motor
car

1 True

2 False

The GDP s the best indication we have of the level of economic activity maintained during a

specific pencd

1 True
2 False
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SECTION B

Questions 16 to 65 of the examination question paper are MULTIPLE-CHOICE questions

tn each question, select the most correct option

16

17

Economic production and distribution probiems in the various economic systems are solved as
follows

1 In a command economic system, the market, advised by numerous subordinate commitiees,
takes these decisions

2 In a market economy, these decisions are motivated by collective public interest and are
determined in regulated markets

3 In a mixed market economy, these decisions are taken in the market but tempered by

government intervention
4 The South Afnican economic system 1s a pure market econcmy where the market
mechanism governs all economic actions

Select the statement that will always be correct In a market economy, the market

1 Is a physical place where buyers and seliers meet to agree on a price

2 15 a national invisible place where all potential buyers and sellers worldwide communicate
with each other

3 warns producers and/or consumers against mncreasing prices

4 brings together buyers and sellers to establish the price and quantity of a goed or service

A
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t § factors v
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6
tn the above diagram, households are represented by .
1 C.B
2 AC
3 B,C
4 C A
in the above diagram, the flow of goods and services Is represented by the
money flow Is represented by the line
1 dotted, solid
2 D F
3 E, G
4 sold, dotted
EE Year 5 | I NUShDeE of care wolat
2085 15 000
2006 15 S04
2007 15 800
2003 17 D00
2005 17 560
2010 18 00
2011 16 300
2012 15 0G0
2mM3 14 QUG
2014 15 04O
2015 16 GO0

A graph Mustrating the data m the above table

1
2
3
4

1s known as a linear curve that indicates a positive relationship
will show the reasons for the changes in the number of cars sold
will indicate a non-linear time-series curve

will be a cross-section graph to dlustrate a negative relationship

The quantity of any product we plan to buy, depends on

B WN =

the price of that product as well as the prices of related goods
our income and preferences

the size of our household

All of the above

ECS1500
Oct/Nov 2017

and business enterprises by

hine, while the
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The quantity of goods a producer plans to sefl on the market depends on, among others,

W N -

the iIncome and preferences of households
technology and weather conditions

the price of complementary products

the availabiity of substitutes

The law of demand

AW N

Is explaned by the substitution and income effects

1s dlustrated by an upward sloping demand curve

explains why consumers will buy more eggs when the price of eggs increases
explains why the demand curve wili shift to the nght when the price decreases

The supply curve will shift to the nght when

AW N =

the price of the product increases

the technology used in the production process improves

factors of production needed to produce the product become more expensive
weather conditions deteriorate and increase the cost of production

P Newspaper Market
12

10

1 2z 3 4 5 6 Q

Use the above figure depicting the newspaper market to answer questions 25, 26 and 27

25

The demand schedule that was used to draw the demand curve for newspapers, will indicate the
following quantity demanded per price

2w NN =

ei1ght newspapers demandsd at R1
six newspapers demanded at R10
seven newspapers demanded at R7
five newspapers demanded at R5
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At a price of R6, there will be

B s I

an excess demand of two newspapers
an excess supply of two newspapers
equilibnum n the newspaper market
downward pressure on the price

What will the effect be of an increase in the price of news delivered by electronic media?

1

2
3
4

The demand curve wilf shift to the nght

The supply curve will shift to the loft

There will be a movement to the left along the demand curve
There will be a movement to the right along the supply curve

An increase in the demand for fned chicken, ceteris paribus, can be llustrated as follows

[TURN OVER]
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29  The ceteris paribus condition is used

by economists to invoke the law of demand

to isolate the effect of price changes on demand or supply

by economics lecturers to lllustrate the importance of price changes in various markets
to fllustrate the relationship between suppiy and demand in a market

B WP -

20

15

10

10 20 30 40 50 60

The above figure illustrates the market for oranges and should be used to answer questions 30 and 31
30  When the demand for and supply of oranges increases at the same time,

the direction of change in both price and quantity will be uncertain

price will increase but the direction of the change in quantity will be uncertain
quantity will increase but the direction of the change in price will be uncertain
guantity will decrsase but the direction of the change in pnce will be uncertan

£

31 When demand for oranges increases but the supply decreases at the same time,

the direction of change n both price and quantity will be uncertain

price will increase but the direction of the change mn quantity will be uncertain
quantity will increase but the direction of the change in price will be uncertain
guantity will decrease but the direction of the change in price wilt be uncertain

HWN =
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The price elasticity of demand

1

% change tn price of a product
% change in quantity demanded of a product
% change wn price of a product
% change tin demand for a product

Is the percentage change In the quantity demanded of a product if the price of the product
changes by 1%, ceteris paribus
1s the percentage change in the quantty supplied of a product If the price of the product
changes by 1%, ceterss paribus

1s equal to

Is equal to

Which one of the following statements Is correct?

1

Price elasticity of demand s always negative because quantity demanded and price change

In opposite directions

Price elasticity of demand for maize, which s a staple food, can be expected to be tugher
than price elasticity of demand for truffle o, which is a luxury flavouring agent

Price elasticity of demand for standard school shirts can be expected to be higher than price
elasticity of designer jackets

i demand 1s not price elastic, it means that the quantity demanded will change a lot for even
a small change In the price

The economy of Country Z 15 growing and the average income of consumers in this country 1s
increasing The company ELECZ is the prowder of electricity in this country Which one of the
following can ELECZ use to help it decide how much electricity to provide in future, given the
change in the iIncome of consumers?

1
2
3
4

price elasticity of demand for electricity

income elasticity of demand for electncity

cross elastioty of demand for electricity and coal
price elasticity of supply of electricity

When the price of product A increases by 10%, the quantity demanded of product B increases by
5% Which of the following statements 1s correct, based on this information?

WD

Products A and B are complements
Products A and B are substitutes
Product A 1s a luxury good

Product B is an essential good
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36 Which one of the following statements is correct?
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When the quantity suppiled does not change at all when the price of a product changes, we say

that price elastictty of supply 1s

1 perfectly inelastic
2 inelastic

3 unit elastic

4 elastic

5

periectly elastic

37 Gross domestic product is equal to

1 total production in a country — exports + imports
2 totat production in a country + exports — imports
3 C+1+G

4 C+l+G+X-2

5 C+l+G-X+Z

38 A change in real gross domestic product

Indicates changes i production per worker
includes the informal sector

H WK =

accounts for changes i the economic welfare of different income groups
indicates changes in the quantity of products and services that was produced

Question 39 i1s based on the following table that provides information on the consumer prices for certain
goods according to the COICOP classification in 2016 as well as the CPI for all goods from 2013 to

2016

Consumer prices for goods according to the COICOP classification

Weights | 2013 | 2014 | 2015 | 2016
Food and non-alcoholic beverages 1541 96 6
Alcoholic beverages and tobacco 543 99
Clothing and footwear 407 978
Housing and utiihies 521 97 2
Household contents, equipment and
maintenance P 244 994
Transport 12 31 977
Recreation and culfure 013 98 3
Miscellaneous goods 196 98
Total goods 4986 | 83 882 912 975

Source SARB Quarterly Bulletin, March 2017
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Which of the following statements 1s correct, based on the information in the table?

1 The prices of alcoholic beverages and tobacco increased by more than the prices of food
and non-alcohohc beverages in 2016

2 The prices of food and non-alcoholic beverages increased by more than the prices of
recreation and culture goods in 20186

3 Only the prices of goods are included in the basket of tems used to calculate the CP!

4 The inflation rate on goods has been positive for all the years shown in the table

Which of the following apphes to both the CPl and the PPI?

1 Measured at the first significant commercial transaction

2 Measured based on a representative basket of items that 1s adjusted every few years

3 Capital and intermediate goods used in the production process are ncluded in the basket of
items

4 Services are included in the basket of items used to determine the index

Question 41 1s based on the following information that 1s prowided for Country X on 30 June 2016

41

42

Number of employed persons 3 mulhion
Number of unemployed persons who have actively been seeking 1 million
employment in the previous week

Number of unemployed persons who have not actively been seeking 1,5 mifhion
employment in the previous week

The unemployment rate in Country X, based on the strict definition of unemployment, 1s

25%
33,33%
45%
50%

W NN =

Sam worked as a miner in a coal mine that provided coal to a power station The power station
closed down because a decision had been made to encourage green energy Due to a lack of
demand for coal, the mine closed down and Sam lost his job This t1s an example of
unemployment

voluntary
frictional
seasonal
cychcal
structural

L B A
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Qluestion 43 1s based on the following diagram

Country AB

Cumulative % of income

Country XZ

Cumulative % of population

43

44

Which of the following options are correct, based on the information in the above diagram

The income distribution in Country AB 1s more unequal than in Country XZ
The income distribution in Country XZ 1s more unequal than in Country AB
The Gini coefficient for Country AB s larger than the Gin coefficient for Country XZ
The Grm coefficient for Country XZ 1s larger than the Gin coefficient for Country AB

Q o o W

ac
ad
be
bd

L

The four parts of the business cycle can occur In the following sequence

upswing, downswing, peak, trough
upswing, trough, downswing, peak
downswing, trough, upswing, peak
downswing, upswing, trough, peak

LR SR
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Which one of the following wilt provide the best measure of an increase in the economic welfare
of a country?

[ B = /% B AN

increase i nominal GDP

Increase n real GDP

Increase in GOP at constant prices
increase in GN!

increase n real GPD per capita

Which one of the foliowing provides the best definition for a natural monopoly?

A situation where markets fail to ensure the best solution to the economic problem

A sttuation where there is only a singile supplier of a good or service

A situation where a single firm can satisfy the total demand for a good or service in a certain
area

A situation where no one can be excluded from the benefits of a good or service

Which one of the following statements 1s NOT correct?

The central government provides important goods and services on a national level, such as
the police and the defence force

The provincial or regional government provides important goods and services on a regional
level, such as education and health services

The locail governments provide important goods and services on a local level, such as
streetlights and refuge removal

Public corporations and public enterprises only provide goods and services to the
government

Which one of the foliowing 1s an example of a negative externaiity?

A beekeeper's bees obtain nectar from the apple orchard of the apple farmer next door but
the beekseper does nat pay for it

Mr Brown cycles to work every day in order not to increase pollution

Mr White only uses electrictty prowvided by a company that generates it with coal that causes
poliution

Mrs Black uses only solar energy in her house in order not 1o Increase pollution

[TURN OVER]
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The government of Country A mainly collects tax by means of a progressive income tax system,
and pays a farge percentage of this over to unemployed, elderly and disabled persons in the form

of social grants This is an example of the function of the government
1 allocation

2 regulation

3 distribution

4 stabilisation

Which of the following statements 1s correct?

]

When students do not pay for education but government pays for it, it is free because no
resources are allocated to

The government pays Interest on its debt

Durtng periads of peace no funds are allocated to defence, public order and safety

The government will never expenence a financia! deficit because 1t collects taxes from the
pubhc

A fuel levy 1s an exampie of

[}

5 WM 2

direct tax
indirect tax
selective tax

ac
be
only a
oniy b

Question 52 I1s based on the information that 1s contained m the following table

Person income level (monthly) Amount paid towards tax A
A 10 000 t 000
B 12 000 1 200
C 15 000 1500 i

52

Which of the following statemenis Is correct, based on the information in the table?

W NN =

Tax A 1s progressive

Tax A 18 regressive

Tax A is praportional

We do not have enough information to determine # tax A is progressive, regressive or
proportional

[TURN OVER]
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When the value-added tax rate i1s increased, consumers immediately experience a decrease in
the amount they can spend This llustrates that the

AW N -

recognition lag 1s short

the administrative lag Is short
the impact lag 1s short

pohtical business cycle 1s short

Which of the following statements 1s correct?

BW RN -

M1 money mainly functions as a medium of exchange

M3 money mamly functions as a medium of exchange

M3 money only functions as store of value

Long-term deposits mainly function as a medium of exchange

Question 55 1s based on the information in the following table

55

56

Aggregate R (mullion)
M1 45 345
M2 148 987
M3 243 987

Long-term deposits are equal to

]
2
3
4

RS5 000 millhion

R243 987 mithon
R392 974 million
R438 319 million

Which of the following are examples of stock concepts?

o o

LS 2 B S R

The M1 money supply was R543 988 million on 30 September 2017

Mr X retired on 31 March 2017 and received his retirement fund equal to R4 million
Mrs Y retired on 30 June 2017 and now receives R15 000 a month as a pension
On 31 July the banks held R456 987 mullion cash reserves with the SARB

abcd
abd
bed
ab

only ¢
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Question 57 1s based on the foliowing diagram
LENDERS BORROWERS
Money Money I
Government === = == a= 1 Financial ey Households
Securities | Intermedianes | gecyrities
Firms " = o wm e e ;g FyMS
A
Households Money Government
Foreign o _Iﬂoiliy-. Money i Foreign
sector Securities Financial Securities | sector
Markets 2 o o s o e o
SURPLUS DEFICIT
UNITS UNITS|
Source Mobr ef al (2008)
57  Which one of the following statements is correct?
1 Financial intermedraries receive surplus funds from deficit urits in the economy
2 Financial intermedianes create financial secunbes that are sold to deficit units In the

economy

3 Financial secunties that are created by financial intermedianies ars sold to surplus units In
the economy

4 All financial securities in the economy are created by financial intermediaries

Question 58 1s based on the following mission statement of the SARB that appears on the SARB's
website

58

The primary purpose of the Bank 1s fo achieve and maintain price stability in the inferest of
bafanced and sustainable economic growth in South Africa Together with other instiutions, 1t
also plays a pwvotal role in ensuring financial stabilty

Which of the following functions 1s the most important function of the SARB, based on the above
quotation?

controller of note 1ssues

banker of the government

custodian of gold and other foreign exchange reserves
farmulation and implementation of monetary policy

B S R
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The government 1ssues treasury bills that will expire 1n three months' time Which of the followmng
options are correct?

0 T o

£W N

The treasury bills are issued In the primary market
The treasury bills are issued in the secondary market
The treasury bills are 1ssued in the money market
The treasury bills are issued n the capital market

ac
ad
bc
bd

Which of the foliowing statements 1s correct?

The repo rate 1s the rate at which the government borrows from the SARB

There are many different interest rates in the economy and the level of these rates are not
related in any way

The real interest rate 1s the difference between the nominal interest rate and the repo rate
When the inflation rate is higher than the nominal interest rate, the real interest rate is
negative

Question 61 1s based on the following information that 1s provided for Countries A and B

61

Country A Country B
Suits 250 milhon 280 mullion
Shoes 180 million 190 miilion

Which of the following options are correct, based on the information in the table?

Qo oa

BN -

Country A has absolute advantage in the production of suits
Country A has absolute advantage in the production of shoes
Country A has comparative advantage in the production of suits
Country A has comparative advantage in the production of shoes

bandc
aandd
oniy ¢
only d
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Question 62 1s based cn the following diagram that shows the levels of exports from South Africa for
three different sectors of the economy

South Africa exports

700000 - oo o e on e e - -
600000

500000

400000

0000 - ¥ - - -

R mithion

S « ooy o~ Agriculture

= @ = Mining

=D Manufacturing

200000  oron e o o e e e

100000  —oe o = e i e«
‘...o-ooA..-ootcA...oc-.‘oc-

0 _— -~ - -
2012 2013 2014 2015 2016

“. .‘.“' -

62

63

Which of the following statements 1s correct, based on the mformation in the diagram?

The manufactuning sector in Scuth Africa grew from 2012 to 2016

Mining exports increased from 2013 to 2016

South Africa exports more agricultural products than manufactured products
Exports by the manufacturing sector increased every year from 2012 to 2016

SN =

The exchange rate of the rand against the doltar changed from R13,25 = $1,00 to R14,00 = $1,00

Which of the following statements 1s correct, based on this information?

i The rand appreciated against the dollar

2 The dollar appreciated against the rand

3 South African exports became more expensive for Americans
4 American exports became cheaper for South Africans
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Question 64 1s based on the following diagram

R/S

14,00

G0 Q {5-dollar)

64

65

Which of the following staternents is correct, based on the information In the diagram?

1 At an exchange rate of R14,25 = $1,00 there will be excess demand for dollar

2 At an exchange rate of R13,50 = $1,00, there will be excess supply of dollar

3 At an exchange rate of R14,00 the quantity of doltar demanded will exceed the quantity of
dollar supplied

4 When the demand for doilar increases, South African will pay more rand per dollar

Which of the following statements 1s correct?

1 The trade balance s the difference between total gold plus merchandise exports and total
merchandise imparts

2 The financial account of the balance of payments records all transactions in financial assets
and labilities that took place in South Africa

3 The current account shows the total rand amounts of only goods that were imported and
exported

4 Portfolio investment records transactions related to acquisition of share capital 1n foreign
countries with the purpose of gaining control or a large say in the management of the
enterprise in which the investment 1s made
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IMPORTANT BELANGRIK
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4 ENTER YOUR STUCENT NUMBER FROM LEFT TO RIGHT 4 VUL U STUDENTENOMMER VAN LINKS A REGS IN
6 CHECK THAT YOUR STUDENY NUMRER HAS BEEN FILLED IN CORRFCTLY 6 KONTROLEER DAT U DIE KORRFKIE STUDENTENOMMER VFRSTRFK HET
B CHECK THAT THE UNIQUE NUMBER HAS BEEN FILLED IN CORRECTLY 6 KONTROLEER DAT DIE UNIEKE NOMMER REG INGEVUL 15
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MARK READING SHEET INSTRUCTIONS

Your mark reading sheet 1s marked by computer and should therefore be filled in thoroughly and
correctly

USE ONLY AN HB PENCIL TO COMPLETE YOUR MARK READING SHEET
PLEASE DO NOT FOLD OR DAMAGE YOUR MARK READING SHEET

Consult the illustration of a mark reading sheet on the reverse of this page and follow the instructions step by
step when working on your sheet

nstruction numbers @ o @ refer to spaces on your mark readmg sheet which you should fill in as

follows

1] Write your paper code 1n these eight squares, for instance

P S|Yj1{0]0]|- X

®

The paper number pertamns only to first-ievel courses consisting of two papers

WRITE | 0 | 1 | forthe first paperand | 0 | 2 | for the second If only one paper, then leave blank

Fall i your mitials and surmame
Fill in the date of the examination

Fill in the name of the examination centre

Q000

WRITE the digits of your student number HORIZONTALLY (from left to nght) Begin by filling in the

first digit of your student number 1n the first square on the left, then fill in the other digits, each one n a
separate square

In each vertical column mark the digit that corresponds to the digit in your student number as follows
[-]
WRITE your unique paper number HORIZONTALLY

NB Your unique paper number appears at the top of your exammation paper and consists only of digits
{e g 403326)

© In each vertical column mark the digit that corresponds to the digtt number 1n your unique paper

©

number as follows [-]

@ Question numbers 1 to 140 indicate corresponding question numbers mn your exarmmation paper The

five spaces with digits | to 5 next to each question number indicate an alternative answer to each
question The spaces of which the number correspond to the answer you have chosen for each question
and should be marked as follows [-]

0 For official use by the mvigtlator Do not fill m any mformation here



